1) How are the slopes of parallel lines related to each other?  ____________________

2) How are the slopes of perpendicular lines related to each other?  _________________


Give the slope of a line perpendicular to the one whose slope is given:

a)  m = 3  __________
b)  m = 
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 ________        c)  m = 0  _______
Convert each of the following equations to slope-intercept form.

What is the slope?   What is the y-intercept?

3) 
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m = _____  b = ____


      m = _____  b = ____
Put into best standard form.  Identify the x and y-intercepts.
5) 
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            x-intercept = _______
y-intercept = ________
Write the equations of the following lines in slope-intercept form.

6) line with slope = 2 through (1, 
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)
7) line parallel to 
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 and through  (0, 1)

8)  line through  (
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, 1) and  (6, 3)

9) What is the slope of horizontal lines?  
10)  What is the slope of vertical lines?

Based on the information given, would each line described be horizontal or vertical?

Graph each line.
11)  equation is  
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12)  equation is  
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     Vertical          Horizontal



Vertical       Horizontal
13)  through (8, 12) and (8, -4)

14)  through  (5, 5) and (-2, 5)

        Vertical       Horizontal


         Vertical       Horizontal
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